goooogoossbooooooooooozoond

1.
2.
W 1 W
Ax =1 X @
A
n X n W
W m Wl,Wz,'-',Wm 2
W Ny Vij T Wi, =120 Vi
Vi Vi 2.0 \
n
n
\7iT°[Vi,1’Vi,2v""Vi,r1] _________ @) U °[0,+,0,W1 0, 0] --memv ©)
2 Wi
W, li ViaVi2eaVig
VizVi2e Vg
- A oA A A 1m
Vi =G0 20eee G g | s (4 A (VAR B (5) < P
Z
~ _ T T T /
v X =Vy Wil Wsi Wt W132
[} [} [}
viAvy=1vivy ©® | [ A R
Wot Wgt Wil Wiglr
v Im . e et 2
W3 i Woi Wiy W152
————— R aEE S /7
’ Wsi Wgi Wil W162
3' [} ] ] ;
S Xt x{) 20" 10° kN/m?
0.01m
() (s+D) -
AU = XY —mmmeees (7) xg~ 7 = uf||ul] (8) mE16
x{8 9 u 3
I 1,1 9,-,1 (10)
T R T Y S —— 9) u=T—1xl+T—2x2+--~+T—”xn ———————————————— (10)
1 2 n
4
2 1 Te:096-326-3111 Fax:326-3000 E-mail:katayama@ce.kumamoto-it.ac.jp

0 -A490



goooogoossbooooooooooozoond

0 -A490

V,W
Xt(s) R/ Y — (12) u=VvVc+Wd --------mme- (12) 16129
W (9 (10) 32512
u
V,W (k\/m)
xE =vy, +Wz, (13) 1 52.603812
Vo z  (14) 2 | 304.687959
(15 €a 3 380.751204
viav vTaw {Yt}zl(sﬂ) viv vTw [yt} 14 4 | o41.799523
wray wlaw | % wv wiw | z
5 1125.009406
= AL ees a9
—0—1
4. Au=x{d ——2
(7) —{—3
UK 2yl K] (16) s
[k (@) V.W 2
vV (11 ~ 0
k k w
clkl glk] 17) =
g
-4
viav vTaw | ck|_[vTx® an
wTav wTaw | dlkl |7 wTx{® -6
Sk ([K] Wy, Wa, -, Wi (18) -8
19) o b
0 5 10 15
0o [, K ] = - Aulk (18) ™
4
= Lk LN VO]
=] em |
g (19)
(20) (21) (22 Ai A=(Aj)
(22) W k+1 0t W = [WvVAVi,kﬂ]
W:[\/’\\&,\/f\\é,...,\/’\\%] W Vv
u 16  (17)
12) w
A ai[k] = ri[k] _____ (20) Wi o1 =qi[k]/u qi[k]H _____ 1) W|T,k+1 =lo,---,0 WiTk+1 0,---,0| —-- (22)
5.
3
127x 127=16129 G ) 32512
4 5 ) (15)
e, =107 3 16 4



	kyotsu: 　　土木学会第55回年次学術講演会（平成12年9月）
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